
 

 

 

Prozentrechnen-Bingo (Aufgabe 50, Seite 43) 
 
 

 1 2 3 4 5 6 

1 
50 % von 

1.800,00 EUR 
25 % von x 
sind 80 € 

 

10 % von 
8.760,00 EUR 

75 % von 
1.600,00 EUR 

25 % von 
280,00 EUR 

2 
2 % von 

9.120,00 EUR 
30 % von 

15.000,00 € 

50 % von x 
sind  

232,00 EUR. 

20 % Rabatt 
sind 18 €. 

Neuer Preis? 

3 % von x sind 
33,00 EUR. 

 

3 
80 % von 
8.000 € 

4 % von 
800,00 EUR 

66 
2

3
 % von 

90,00 EUR 
 

3 % von 
6.900,00 EUR 

150 % von 3 € 

4 

 

20 % von x 
sind  

40,00 EUR. 

10 % 
Aufschlag sind 

2 €. Neuer 
Preis? 

5 % von 
440,00 EUR 

19 % von 
200,00 EUR 

7 % von 
200,00 EUR 

5 
150 % von x 

sind  
600,00 EUR. 

150 € von 750 
€ sind x % 

5 % von 
1.200,00 EUR 

60 % von  
500 € 

 

5 % von x sind 
21,00 EUR. 

6 
12,5 % von 
880,00 EUR 

 

200 % von 
4,50 € 

70 % von x 
sind  

70,00 EUR. 
1 % von 60 € 

12,5 % von 
160 € 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


